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ow let that machine drep, it will tend te dive nore speedily
with this tall emn. Vith a bew centrel it tends te chegck the
dive,

Dr, Bollt= You think the pressure is em the under
surface of the tall, Gardiner Bcll thinks it is en the upper
surface,

Sardiner Bells= You take both cuses, ene rachine with
a tail, and the other witheut; ou can turm the rmmchine witheut
the tall quicker than the eme with the tail. The resistiing pres-
sure will be en the upper surface of the tail the mement the

achine turms, that is if the tall is fixed er statienary,

MNr, Baldwinge Accerding te Dr, Bell's propesitien the
thing with a tail let free teo fall will tend te de the weather

vane agt and drep with its head vertiecally dewmwards,

Dr_Bells= I think we are all agreed upen the peint
that the principal danger te the aviater is in less of head=
way. New in all machines se far made the center of graviiy
is in freat of the center of surfagce s¢ that when we lose

headway the machine dives and the frent cemntrel by its resis-

tance tends to cheeck that dive., It is equally eobvieus that if

the center of ravity was behind the center of surfagce Lhen

the rear tail weuld check the sterm dive muchf -n‘uld result?
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But the questien cemes in "y mind why de we havol\ﬂmt centar

of gravity in fremt of the center eof surface, why weuld 1t

net be safer, without headway, to have it direc:.ly under the

center of surface, Suppose the reasen to be, and I think 1t is

right, that when headway is pained the center of pressure neves
1ty under the

ferward and we have te have the center of grav




